Given: AM =CP, C is the midpoint of AG m
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GivVen: YX = XZ, WX bisects £YXZ

Prove: AwWyx= AWIZX
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Given: Sis the midpoint of RT, PR = PT

Prove: APRS= APTS
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Given: Eis the midpoint of AB, Eis the midpoint of C]

prove: AAEC = ABED

Atatements, Reasons,
AEZBE - - aedn. 0"Gmld‘mﬂ'
£ is mdptof D gven.
Ce :_:.v:De o d@-("n 0k midpbm
LAECS BeD ve(—\\caﬂ ‘

WAec S p8ed | SAS

s

E"

RO E SOOI %

Given: Ris the midpoint of QS, ZRPQ =£RTS

pProve: APQR= ATSR
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Given: ZA=/EBC =

Prove: AABC = ADEC

Given: EH =FJ, AF = JG, F is the midpoint of EG

prove: /erH:= ZFGJ S SS
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Given:

PL = LM, QL bisects ZPLM

prove: Zi=/z2
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Given: AB=DC, £2= /4

prove: ZA:= «/ZC
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